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12R EF KNI PN 16 =E2/\T | S| 3 16 16 53
12R Ry FHEA J1a 16 RE/\V7T | S| 9 16 16 53
12R TR B BRIX 16 &RE/\JT | S| 16 16 16 iR
12R| NI&EE &5 J1a 155 | &x&2/\V7 | S| 14 16 1 16 3
12R B85 Kt BRIX 145 | &&2/\J7 |S| 4 13 16 3
12R SN B3 J1a 13 10mBl A | 51 10 16 53
12R ARV Y = J1a 125 | RE/\VT | S| 20 14 11 53
12R aR 8% BRIR 125 | RE/\VT | S| 21 13 12 iR
15 BB B8 FPREEB | 126 | RE/\VT | S| 6 10 12 16
15 WE &=t J1a 126 | RE/\VT | S| 33 11 11 16
15 EI= A BRIX 123 20mBl Al 158 | 12 11 14
15 AN BiG BRIX 12 RE/\VT | S| 46 3 12 16
15 ] R BRIR 9 20mBl A | 101 3 10 14
1 AR 3 J1a 125 | &:&2/\J7F | S| 27 9 16 3
2 JNO B3 BRIX 125 10mBl A 94 16 9 fto
3 WH R J1a 116 | RE/\VT | S| 23 10 11 14
4 PE 8n BRIX 116 10mBl A | 106 3 16 11
5 kB 0 BRIX 115 | &2/\J7 | S| 32 16 o’ 3
S mE iR BRIX 11 =&2/\>7T | S| 5 11 11 3
o’ DTS E 25 PRI 11 10mBL A | 69 14 3 11
8 23 BRIR 106 | =&/\J7 |A| 1 13 9 10
9 BIBR =5 BRIX 10.6 10mBl A | 35 16 5 11
10 ZNITRL=) 7 BRIR 10 =RE/\VT | A| 12 10 12 8
11 BE iz 10 =E/\>7T | A| 13 3 12 3
12 e & BRIX 10 10mBl A | 146 4 16 53
13 N B BRIR 9.6 RE/\JT | S| 42 11 8 10
14 BT BEER BRIX 9.6 10mBD Al 128 | 16 4 9
15 Br R BRIX 9.5 =RE/\>Y7T | A| 40 3 16 3
16 i3 NI A D v e 9.5 10mEBL Al 10 9 10 3
17 =) a = I BRIX 9.3 &RE/\VT | A| 64 9 S 13
18 I & BRIX 9.3 10mBL A | B3 11 11 6
19 mE = LB 9.3 20mBl Al199 | 12 10 6
20 #2ol BRIX 9 =E/\>7T |A| 8 4 16 ’
21 AW ST BRIX 9 10mEBD Al130 | 11 1 3 53
22 B & BRIR 3.6 10mBL A | 381 4 16 6
23 R &8 BRIX 3.5 10mBL A | 100 5 12 fiw
24 GA& =R BRIX 3 =E/\J7T | A| 137 S 10 3
25 AN =2 e 3 20mgl A | 86 13 O 11
26 Pk EX PRI [£S =E/\7T | S| 19 10 2 11
27 WH B= BRIR 7.6 10mBl Al 122 12 S 2
28 =y =] BRIX 7.6 10mBD A 123 5 10 8
29 R BA BRIX I£S 20mal Al136 | 10 10 3
30 B 1EE BRIX 7.3 10mEal A | 46 9 8 5
31 BP X BRIX ’ =E/\V7T | S| 36 3 3 10
32 BE % BRIR ’ &E/\V7T | A| 38 S S iR
33 Bilg  BmIT BRIX ’ 10mEAlD Al 37 10 4 3
34 B = LB ’ 10mED Al 72 11 4 6




=8 A 6.5 10mal Al 73 10 3 53
MmHF  KA0 iz 6.5 20mal A | 126 S 4 3
=R e 6.3 10mal A | 63 2 9 8
Ry XY I BRIx 6.3 20mal Al168 | 11 8 O
oin (BB BRIx S =E/\VT | A| T1 5 8 5
ME BN BRIR 56 10mal A | 55 10 4 3
i BIR BRIR 56 10mal A | 129 7 6 4
AL =5 EEAS 55 =E/\Y7T | S| 39 6 5 3
PR RF0 PEYYA 5.3 RE/\T | S| 43 4 8 4
oH B EEAS 5 =8/\VT | A| 66 5 11 O
HN E— BRIR 5 10mal A | 61 11 2 2
(-7 NIV BRIR 4.6 20mal Al 171 4 9 1

e = JI1O 4.3 =E/\>VT | A| 36 10 2 1

HP 8% BRIx 4.3 20mBl A 132 4 9 O
PN &= BRIR X =8/\V7T | S| 31 11 5 X
B 8RB EEAS X =E/\V7T | A| 16 6 10 X
oEf X BRIX X 20mal A | 216 3 9 X
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